
                               
Specific Risk Assessment                                                                      Reference No

(For further information on completing this form see the separate instruction sheet)
	Assessment: 

	Road Risk – Driving for Work.


	Location / Work Area 
	All on / off road locations


	Hazards-Risks Identified (e.g. Hazard / Oil spillage-Risk / Serious injury due to slips and falls).

Use your general risk assessments supplied, to assist you with the identification of your hazards.

	Risk of being involved in a Road Traffic Incident (RTI).

	Risk of non-employees being struck by carer’s vehicles.

	Risk of driver being struck by other vehicles.

	Risk of collision with other vehicles. 

	Manual handling injuries whilst loading or unloading.

	Traffic hazard on breakdown.

	Lone Working.


	Persons at Risk (enter a ( in the box of those affected)

	Employees / Drivers
	(
	Young Persons (Under 18 years /individual assessment)
	

	Other Drivers
	(
	Pregnant Worker (individual assessment required)
	

	General Public
	(
	Others (e.g. Disabled Workers)
	


	Existing Risk Controls (e.g. Protective clothing, Training, Preventative maintenance, Guarding, Signage)

	All vehicle users are vetted annually e.g. license, MOT certificate (if applicable) and insurance certificate. 

	Vehicles are serviced at the required frequencies stipulated by the manufacturer.

	Non company vehicle users are informed that it is their own responsibility to ensure that the vehicle is roadworthy at all times and in conformance with the Road Traffic Act.

	All vehicles are visually inspected monthly on safety critical functions.

	All vehicles have been provided with a travel first aid kit.

	The company do not put unrealistic time pressures on drivers or expect the employee to drive more than the hours stipulated within good road safety guidance.

	Mobile phones are not permitted to be used as per legal requirements. Hands free devices are also not to be used. Employees should turn their phones off or to silent and retrieve messages once they are parked safely at the destination.

	All drivers have been provided with manual handling training.


TAKING INTO ACCOUNT THE EXISTING CONTROLS. Select from the table below the likelihood of harm and the severity of the harm. (Enter a ( in the relevant boxes)

	Likelihood of Harm/Injury 
	Highly

Likely
	3
	
	Possible
	2
	(
	
	1
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	Severity of Harm/Injury
	Fatality
	5
	(
	Critical
	4
	
	Serious
	3
	
	Marginal
	2
	
	Minimal
	1
	


LIKELIHOOD OF HARM / INJURY x SEVERITY OF HARM / INJURY = RISK RATING


Risk Rating (enter a ( in the relevant box below) 

	Very High Risk

10+
	(
	Medium Risk

5-9
	
	Low Risk

1-4
	


Now you have established the risk level consider how frequently is the risk is likely to arise?
	Continual
	
	Frequent
	(
	Minimal
	


Now you have completed your initial assessment answer the question below

	Do you consider the existing controls are adequate?
	Yes
	(
	No
	


	Reference to additional assessments (e.g. CoSHH and manual handling)

	Risk Assessment 
	Ref No
	Risk Assessment 
	Ref No

	
	
	
	

	
	
	
	


	Further ACTION required to reduce the risk

	Monitor accident statistics for company vehicle users. Address any reoccurrence patterns by performing accident investigations.

	Drivers who are frequently involved in RTI’s should be requested to attend an advanced driving course.


	Action to be implemented by
	Target Date
	Completed Date

	
	
	

	
	
	


	Initial Assessment completed by
	Name
	Signature
	Date

	
	K. Green
	
	November 2013


	Assessment Review
	Date of first review

	
	November 2014


	Assessment Review Completed by
	Name
	Signature
	Date

	
	
	
	

	Reason for review
	Annual Review
	
	Changes
	
	Accident / Incident
	

	Comments




	Assessment Review Completed by
	Name
	Signature
	Date

	
	
	
	

	Reason for review
	Annual Review
	
	Changes
	
	Accident / Incident
	

	Comments




	Assessment Review Completed by
	Name
	Signature
	Date

	
	
	
	

	Reason for review
	Annual Review
	
	Changes
	
	Accident / Incident
	

	Comments
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	       2     x     5   =   10








